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Magnetism and Matter

||| Magnetic field due to bar Magnet,
" Torque, work and Questions
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GOALS OF THE DAY

S * Magnetic field at axial and equatorial points Not in CRST

% Torque on dipole (ot in C RSE )

* Work done in rotation of dipole ( Not in c&gF)
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Magnetic field Due to Bar magnets
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Magnetic field Due to Bar magnets
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Magnetic field Due to Bar magnets

I LAKSHYA KO HAR HAAL ME PAANA HAI



:ﬁq whotad foints

e | -
& ' Botany poid= Mot [ %0080 1.
an ‘
L;Q;O Pa:fﬂ)boﬂ(
Grxy 3
B, - M,
e S e e Iy 3
Y
BQ‘ ”DQVL 1ﬁR |
a - o
TRy | T —
Re |
. r




( Not in Boayds)
Torque on Magnetic dipole

> B z.ovque: WXB‘
m&(?)

> B "C; MB\S‘“BJ
1t
= B le me\ @-—'() ‘(Zb - >,
0=9y )

B MBS fmp’
:% Hfmk:()} ”m wgom_\g .

s

T&qm W\J 0751'\0:3 ntt be Zers

©

I LAKSHYA KO HAR HAAL ME PAANA HAI



——) \

M

15 Now um’foam

—

b

—~ ©

'lTaJraJ =
Zhb’t Zeso

EVE 2

5 f Moa v

wa not 69 Zwo ~

¢0YCQ on obdbcvq.x um NON wwlfowﬂ

T iel o‘

= Mdb
L Gl’w




Work done and Potential energy
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Equilibrium positions and Oscillation
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Time Period of oscillation
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